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USE SUBJECT WISE NOTEBOOKS FOR ASSIGNMENT 
NOTEBOOKS(SOFT COVER REGISTERS 140 PGS): MATHS-SQUARE, ENGLISH - 4 LINE, HINDI – SINGLELINE  

 Assignment-4 for duration 01 June 2020 to 15 June 2020 
Assignment-5 will be uploaded on 15 June 2020 

Class- 2 
Subject-English 

 

*Note- Do the given work in your English note book. 

      Unit2/Lesson-I AM LUCKY 

1.Write the  full poem of Unit 2 "I AM LUCKY". 

2.Hard Words - Butterfly, Myna, Fish, Kangaroo, Octopus. 

3.Insect/Animal         Characteristic 

(i)Butterfly   an insect with coloured wings. 

(ii)Myna   an Asian bird with loud voice. 

(iii)Fish   an aquatic animal with gills and fins. 

(iv) Kangaroo  A herbivores animal with thick tail and hind legs. 

(v)Octopus   an aquatic animal with long eight arms. 

4. Ques/Ans- 

Q1.Why do you think the butterfly likes its wings? 

A1. The butterfly likes its wings because they are very colourful. 

Q2.What can the Myna do? 

A2.The Myna can sing and fly high in the sky. 

Q3.Do you think the fish was really happy to be in water? 

A3.Yes, as she can swim in it with its fins. 

5.Fill in the blanks using given hint words-Roar,Hop,Fly and Swim. 

(i)If I were a Kangaroo, I would hop. 

(ii)If I were a tiger, I would roar. 
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(iii)If I were a fish, I would swim. 

(iv)If I were a bird,  I would fly. 

Class 2 

Subject - Maths 

Q.1 Write  the  back counting  100 to 1. 

Hint - 100 , 99 ,98 ,97 .....  

Q.2 Write the table of 2 to 10 . 

Q3.Find out the tens digits number of the following numbers . 

Example – 356  

        tens digits digit - 5  

(a)  623     (b) 417     (c)  802      (d) 27  

Q.4 Write the numerals . 

Example - 3 tens 1 once  

   numbers is = 31  

(a)  5 tens 3 once    (b) 1 tens 7 once  

(c)  3 tens 6 once     (c) 9 tens 8 once  

Q.5 Write the number name .  

example - 23  

       number name = Twenty three  

(a) 67     (b) 16 (c)  35   (d)   78  

Q.6 A boy was absent on 6 days out of 26 days . On how many days was the boy  

present ?  

Answer -  

The boy was present =  2 6 - 6  

                                     =  20 days  
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Q.7 In a class there are 32 students.  14 more students join the class. How many 

students are there in the class?  

Answer - 

   Total Students who are there = 32 + 14  

                                                  = 46 students  

Q.8 Raju had 8 coins in his pocket.  He lost 4 of them. How many coins does he 

have now ?  

Answer - 

He has coins = 8 - 4 

                        = 4 coins  

Q. 9 Which number is greater of following  

(a) 26 and 16  

Answer - 26 greater than 16  

 (b) 34 and 44  

(c) 74 and 67  

(d) 91 and 71  

Q.10 Write the counting 1 to 20 in words.  

  example - One  

                    Two  

                    Three  
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िवषय - िहȽी 

Class- 2 

पाठ - 6 
बŠत Šआ 

Ůʲ 1 बŠत Šआ किवता िलİखए। 

Ůʲ 2  िनɻिलİखत किठन शɨो ंको दो बार िलİखए। 

बादल , कीचड़ ,बोįरयत , िपंजरे , सूरज , İखलाएं , सड़को ं, भैया , दुआ 

थूप , मौन , Ǜो ं, सभी , चुआ 

Ůʲ 3  िनɻिलİखत शɨो ंके अथŊ िलİखए। 

शɨ                  अथŊ 

दुआ।    -            ŮाथŊना 

भैया      -            भाई 

मौन      -             चुपचाप, खामोश 

Ǜो ं     -             जैसे 

सभी     -              सब 

Ůʲ - उȅर 

Ůʲ 4, बाįरश कहने पर तुʉारे मन मŐ 

कौन कौन से शɨ आते हœ? 

उȅर    बाįरश कहने पर हमारे मन मŐ बादल , पानी , बंूदŐ  , įरमिझम आिद शɨ आते हœ। 

Ůʲ 5 जब बŠत बाįरश होने लगती है? तब तुम कहां खेलती हो? कौन कौन से खेल खेलती हो ? 

उȅर   जब बŠत तेज बाįरश  होती है। तो हम अपने घर के अंदर खेलते हœ। जैसे  घर घर , लूडो  

गुिड़यो ंका खेल , कैरम आिद खेल खेलते है। 

Ůʲ 6 खूब तेज बाįरश होगी तो तुʉारे घर के आसपास कैसा िदखाई देगा? 

उȅर  खूब तेज बाįरश होगी, तो चारो ंओर बाįरश  ही बाįरश िदखाई देगी। इतनी तेज बाįरश मŐ 

लोग भीग रहŐ होगें। 
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Ůʲ  7  बाįरश मŐ िकतना पानी बरसता है? वह पानी कहां कहां जाता होगा? 

उȅर    बाįरश मŐ औसत एक िदन मŐ २० सŐटीमीटर के करीब पानी बरसता है। वह पानी नदी, 

नालो,ं खेतो ंआिद मŐ चला जाता है।  

Ůʲ 8 ये सब बाįरश से बचने के िलए Ɛा करŐ गे- 

उȅर  लोग--छाता लेगे। 

         कबूतर - पेड़ पर बैठ जाएगा 

         कŐ चुआ - जमीन के अंदर चला  

         जाएगा। 

         कुȅा-- िकसी आंगन मŐ बैठ    

                   जाएगा। 

        मछली-- गहराई मŐ चली जाएगी। 

         मोर -  पेड़  पर चला जाएगा। 

किवता मŐ ऐसा Ɛो ंकहा गया होगा? 

1  तेज बाįरश होने पर सड़कŐ  नदी बन जाती है। 

उȅर तेज़ बाįरश होने पर सड़को ंसे पानी िक िनकासी नही ंहोती है िजसके कारण बरसात का 

पानी सड़को ंपर भर जाता है। इसिलए नदी जैसा पानी सड़को ंपर िदखाई देने लगता है। 

2 सब ओर कीचड़ होने पर नानी याद आती है। 

उȅर बाįरश मŐ पानी के कारण कीचड़ हो जाता है ऐसे मŐ चलने वालो ंको बŠत परेशािनयो ंका 

सामना करना पड़ता है। उनके कपड़े , जूते गȽे हो जाते हœ इसिलए किवता मŐ कहा गया है िक 

सब ओर कीचड़ होने पर नानी याद आती है। 

 

 


